Sample Final Exam
Name _____________________________

Math 90, Elementary Algebra
I. Simplifying Algebraic Expressions 

1. Simplify 
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2. Multiply and simplify 
[image: image2.wmf]345

1242

xyxy


3. Divide and simplify 
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4. Simplify 
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5. Add and simplify 
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6. Divide and simplify
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II. Solving Equations, Inequalities, and Systems of Equations  

7. Solve the following equation for x
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8. Solve the following equation for x
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9.  Solve the following equation for a
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10. Solve the following equation for m
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11.  Solve the following system of equations using the substitution or the elimination method:     
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III. Graphing
12.  Graph the following inequality in one variable.  
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13. Graph the solution to the linear equation in 2 variables.  
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14.  Solve the following system of inequalities by graphing.  
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IV. Application Problems 
15. The perimeter of a rectangle is 38 feet.  The length of the rectangle is five feet less than three times the width.  Find the length and width of the rectangle.

16. The Drama Club sold 410 tickets for a play.  Students paid $3 each, while nonstudents paid $7 each.  If a total of $1650 was collected, how many tickets of each type were sold?
V. Other problems: 

17. Write the following numbers in scientific notation:  0.000000123 and 45,600 

18.  Find the x-intercept of 
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19.  Write an equation of a line passing through the points 
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 in slope-intercept form. 
20. For 
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, find 
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21. For the graph of the given function f , determine the following:
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Domain: __________________






Range: __________________
In problems 19-20, factor the following polynomials completely.  If the polynomial is not factorable, write prime.

22.  
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23. 
[image: image24.wmf]22

1220

aabb

++


f








_1362978459.unknown

_1429613529.unknown

_1429613710.unknown

_1436273704.unknown

_1436273790.unknown

_1448352047.unknown

_1436273495.unknown

_1429613540.unknown

_1367259056.unknown

_1367261460.unknown

_1367261317.unknown

_1367257972.unknown

_1367259006.unknown

_1362978524.unknown

_1362978697.unknown

_1350730658.unknown

_1359350313.unknown

_1362978322.unknown

_1360915226.unknown

_1350730889.unknown

_1350730416.unknown

_1327930224.unknown

